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The student will solve multi-step equations in one variable.

Properties used to solve equations
1.)  Addition Property of Equality:  For all numbers 


a, b and c if a = b then a + c = b + c

2.)  Multiplication Property of Equality:  For all numbers


a, b and c, if a = b then ac = bc

3.)  Division Property of equality:  For all numbers


a, b and c if a = b then a = b





 c    c

Solve using addition property

1.)  d + 3 = -8


2.)  f + 2 = 7


3.)  13 = c + 8

4.)  x + 4 = -11

5.)  3 = r – 9


6.)  -4 = e + 2

Solve using Multiplication property

1)  c = 4


2.)  x = -7


3.)  -4 = h

      -4



      -8                                                    9

4.)  c = 11


5.)  11 = x


6.)  t = -16
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Solve using division property

1.)  6x = 60


2.)  9t = -63


3.)  -7z = -49

4.)  -32 = 32y


5.)  -75 = -5f


6.)  -3r = -96

Solving Multistep Equations requires the use of inverse operations.  First undo any addition or subtraction, then undo any division or multiplication.

1.)  8 + 5y = -32

2.)  7 + 3t = -20

3.)  -4 + 11r = -9

4.)  p – 3 = 15


5.)  1 + r = -7


6.)  s + 8 = -3
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7.)  8 + 9q = -64

8.)  -4 + 11x = -92

9.)  14 = 2 + 3a

10.)  6 + b = 7


11.)  13 = b + 2

12.)  27 = 3 + x
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SOL 8.15 Worksheet #1 - Parenthesis

If equations have parenthesis, you must begin by using the distributive property which says a(b + c) = ab + ac

Practice this:  Simplify  


1.)  3 (x + 4) = 


2.) 5 (y – 3) = 


3.) –2(a + 5) =


4.) 2b – (b – 7)= 


5.)  5c – 4(8 – c) =

Steps to solve multistep equations containing parenthesis


1.  Use distributive property


2.  Combine like terms.


3.  Use addition or subtraction to achieve variable on one side of  = and constants 


     on the other.


4.  Use multiplication or division to solve for the variable

Do this example step by step


4(x + 2) + 3x = -6
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SOL 8.15 Worksheet #2 – Parenthesis

1.)  4(y + 2) = 28




2.)  2(t +4) = -4

3.)  6(x – 1) = -12




4.)  9 (a – 1) = 27

5.)  2(n –6) + 4n = -12




6.)  5(p – 6) + 3p = -6

7.)  -2(a + 3) – 4a = 12



8.)  -4(q + 1) – 6q = 6

9.)  9(h + 3) – 3h = 39




10.)  -d –2(d + 3) = 0

11.)  4z –3(7+3z) = -1




12.)  15 = -5c + 7(c + 5)
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